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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = —| 100kN/MZE#BZ 5 = -~ = —-|3m#FBZ 3 =~ - - -
ZThLS 1.00/ 000 ~ 546 68.11] #hbList | 000 ~ 546| 1.69 8.89 ZThLlst 1.00] 500 ~ 599 68.11| #hbist | 500 ~ 599| 1.69 8.89
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/ %8z 5 = -~ = —-|3m#FBZ 3 =~ - - -
ZThLS 1.00/ 000 ~ 6.39 80.43| #h iyt | 000 ~ 6.39] 1.78 9.32 Zh LS 1.00] 500 ~ 753 80.43| #hbList | 500 ~ 753| 1.78 9.32
3 100kN/mM##8Z % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%#Bz% -~ = = =
ZThLS 1.00/ 000 ~ 521 64.95| #hbList 000 ~ 521| 214 11.23 Zhs 1.00] 500 ~ 747 64.95| FhbList | 500 ~ 747 214 11.23
4 100kN/mM#%# 8% % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#B x5 = -~ = -|13m%i#Bz% -~ = = =
ZThLS 1.00/ 000 ~ 458 57.12] #hbList | 000 ~ 458] 225 11.80 Zh LS 1.00] 500 ~ 7.29 57.12] Zhils | 500 ~ 7.29] 2.25 11.80
5 100kN/mM#%# 8% % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#8 x5 = -~ = -|13m%i#Bz2% -~ = = =
ZThLS 1.00/ 000 ~ 285 37.00] #hbList | 000 ~ 285| 266 13.93 Zhus 1.00] 500 ~ 7.99 37.00] #hils | 500 ~ 7.99| 2.66 13.93
6 100kN/mM#%#BZ % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/m%#8 25 = -~ = -|13m%i#Bz% -~ = = =
ZThLS 1.00/ 000 ~ 415 51.95| #hbList | 000 ~ 4.15| 246 12.89 Zhs 1.00| 500 ~ 888 51.95| #hbiist | 500 ~ 888| 246 12.89
7 100kN/mM#%# 8% % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#B x5 = -~ = -|13m%i#Bz% -~ = = =
Zn Lot 1.00] 0.00 ~ 4.66 58.10| ZnList | 0.00 ~ 466| 2.28 11.98 Zh Lot 1.00f 500 ~ 7.84 58.10| Zn Ll | 500 ~ 7.84| 228 11.98
8 100kN/mM##BZ 5 -l -~ = -|3mxEZB| - ~ = = -| 100kN/MZE#B 22 = -~ = -|3m%EiEZ S -~ = = =
Zn Lt 1.00] 0.00 ~ 445 55.51| ZnList | 000 ~ 4.45| 2.02 10.57 Zh st 1.00f 500 ~ 534 55.51| Zn iy | 500 ~ 534 202 10.57
9 100kN/mM##BZ % -l -~ = -|3mxEZB| - ~ = = -| 100kN/MZE#B 22 = -~ = -|3m%EiEZ S -~ = = =
ZznLs 1.00{ 0.00 ~ 422 52.71| ZnList 1000 ~ 4.22| 2.03 10.63 Zh st 1.00f 500 ~ 5.06 5271 #n Ll | 500 ~ 506 203 10.63
10 100kN/mM##BZ % -l -~ = -|3mxEZB| - ~ = = —| 100kN/MZE#B 2% = -~ = -|3m%EiEZ S -~ = = =
Zn Lt 1.00{ 0.00 ~ 3.78 4749 =nLlst |000 ~ 3.78| 2.14 11.21 Zh Lot 1.00f 500 ~ 5.02 4749 Znblis | 500 ~ 502 214 11.21
11 100kN/mM##BZ 5 -l -~ = -|3mxEZB| - ~ = = -| 100kN/MZE#B 22 = -~ = -|3m%EiEZ S -~ = = =
Zn Lt 1.00{ 0.00 ~ 427 53.30| ZnList 1000 ~ 427 2.10 11.03 Zh st 1.00f 500 ~ 555 53.30| #nlist | 500 ~ 555 210 11.03
12 100kN/mM##BZ % -l -~ = -|3mxEZB| - ~ = = -| 100kN/MZE#B 22 = -~ = -|3m%EiEZ S -~ = = =
Zn Lot 1.00{ 0.00 ~ 3.92 49.23] =n kit 1000 ~ 392 2.13 11.18 Zh st 1.00f 500 ~ 5.20 49.23| #n iy | 500 ~ 520 213 11.18
13 100kN/m%E#EZ % = -~ = —-|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ S -~ = = =
Zn Lot 1.00{ 0.00 ~ 432 53.98| ZnList | 000 ~ 432| 2.04 10.68 Zh Lot 1.00f 500 ~ 5.26 53.98| #nList | 500 ~ 526 204 10.68
14 100kN/m%E#EZ % = -~ = —-|3mEFEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ S -~ = = =
Zn Lot 1.00{ 0.00 ~ 4.11 5149 ZnList 1000 ~ 4.11] 2.20 11.56 Zh Lot 1.00f 500 ~ 6.01 5149 Zhblis | 500 ~ 6.01| 220 11.56
15 100kN/m%EH#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3m%EiEZ S -~ = =
L 1.00] 0.00 ~ 466 5814 ZnList 1000 ~ 466] 1.99 10.44 Lot 1.00f 500 ~ 553 58.14| Zh Ll | 500 ~ 553 1.99 10.41
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